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It can be derived from here that there is no rule of T3R8 X 73

OVERVIEW

The X713 attempted to derive from the ruling regarding a 121 72y °X77 that there is no
rule of T1aX W 7. The only way the 72¥ can be 7" 0»pn is by coercing the master
(because of 07w 1P°n) to free the slave. However the slave cannot force the
master (by X"X3) to allow the slave to buy himself out; proving that X"X37T X3>7 n°%.
Our mooin first challenges and then explains the proof.

nooIN asks:
— 215127 5y DY 19 AMD XN 2191 0397 19 )M TaPN PRY KON SINY FINN ON)

And if you will say; perhaps generally there is X"X37 X1°7, however, here by >3
72y it is different, because the 73y does not (cannot) give to the master the
money for his half immediately, but rather he (merely) writes a note that he

owes the master the money. However where the money is given immediately there may be
R"RAT KT

N1B0IN answers:
— 1991941 N)N YDA NYT DIUM YRUNT 9D W

And one can say; that it seems from the X723 that we force the master to free the
slave only because we do not want the slave to nullify the 73 of 7" -

10904 *19° 1929K *)ay Y53 19919 PN 97 INY XN
But otherwise if it were not for 1" 711°2 we would not coerce the master to
relinquish his ownership of the 72v °¥17 in any manner at all even if the 72y would
give money immediately; this proves that X"R37 X7 5.

SUMMARY

! This MmooIn references the X3 on the previous Ty regarding the 11 12 *¥m 72y *3n (where '010 seemingly had the
X073 [after w"2 >1270 MNa% A2 1M that TR R 71T X197 1097 2"'w KD 225 1PN 1072 RY K7 02w 11P°N0 %101 Knyv [see
2°11°%1 MIAAT on this 77]).

2 An 72v does not own any money, for whatever he has belongs to his master. See ‘Thinking it over # 2.

? We can understand that when the money is offered immediately, it is possible to force the other partner to release
his ownership for he is receiving full compensation (and he also has the option to buy out his partner); however here
the master is only receiving a note that he is owed the money and he is losing his asset (the 72y °%r), in such a case it
is understood that we cannot implement X" forcibly.

* Since the 1w is 1915 09w PPN *19m X9% and it did not say 2°»7 12 W X W DT PPN *191, then 1Y,

> Someone would give money on his behalf to free him, for instance.
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The implication of the X713 is that even if the 72¥ would offer money presently to
the master, he could not buy himself out through X"Xa.

THINKING IT OVER

1. It is evident from MmdoIN (question) that if the money was available now and we
would maintain X"X3, then the 72y X1 would be able to free himself by X"Xa.
Seemingly we can answer n190IN question that if there is X"XA7 X1’7 then (why
should we force the NXR to free the slave and merely receive a 1°m7 %v q0Ww) the
community who is charged with providing the needs of the poor should pay the
master and free the slave through X"X3 (in order for the 72¥ to meet his need of 21p
1"15 Mxn). The fact that the community does not do so indicates that there is no X1°7
R"Ra71°

2. Why does n»poin (and the X&713) assume that the 771 72 °Xm 72v °X1 has no
money to offer the master;’ since he is '} 2 ¥y 72w, he may have money for
R"RA?!

® See 0"nm and v NIX 70,
7 See footnote # 2.
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